AR LRHE P 110 SE | B RSE | REFE 14EAR BRI AE 15 B gk  #4:
-~ EBH
Lo( )T7¢ ede? vf- 22 B 57 8 () =3|—|—-2[z@E5T5mf?
(A)—3%. -5 (y1t.8 (A)1 (B)—1 (C)5 (D)—5
2 5 5 .
(C)Zl ’ —% (D)38:49- 9. ( )26x44+26x[]=2600 B[ ]=?
, 7 (A)56 (B)44 (C)0 (D) 100
2. ()EHRD - HEE]T 9P
£33 ®?2 (A9 (B) 8 10. ()4 0.0042 12 4 5 e84 7 £7 7|
(C)18 (D)19- - B2
(A) 42x102 (B) —42x10
3, ( h#s 2% 13255207 A (C) 4.2x10 % (D)—4.2x10° -
3P4z B oA BELS D
(A)3 (B)4 (C)25(D)100 - Z~Hn
l. 38 |15— (—=7)| —|(—18) —24|
- [ ] o
4. ()P = 1285 A% B P Ogkze
—6 PRAETE A8k s 509 ). - 899931265678 —899930
(A)8(B) —8 (C)4 (D)—4 =[ ) I
50 ( )FAP&EES 8L +84 0]
EY68azes—24  RlIAEsE | 3 F[7-5[=16-0"=I[ ]
552 o (R¥A A
(A)8 (B)70 (C)e5 (D)e60
o 4, ¥ (—20) x12345x (—5)
— [ ] °
6. ( )T rle BiER YN " AR ?
(A) 9°— (—9)%=0
(B) (=2)*— (=2 =0 5. F P e 5.6480x10 ° 14| B d m o
(C) 3°— (—3)°=0 dHE S AER ( ] 8B e 5
(D) (=7)°= (=7*) =0~ 0
7. ( )Frle BRI auEY > vR- AL FE 6. — (—2) aupr i [ ]
1)
v. —54+3=-8
e (=7) +(=2)=29
A —2-2= 7. % A(L) ~B(3) ~C (1) =%
4. _7-3=-10 LA okt C L ATRE ) Hi& 3 %
(A)" (B)z (C)a (D)7 » v B B BRAr iR £oendi R g L [ ]




> 1

512+ (—18) + (—6) — (=5 )
[ 1-

S
|| ik

9. Bt A(—7) ~B(14) 42 p
A~B & gherpegr= [ ]

10, F 5B Rtz B5 BE o

et St B A BE s | £ ]

W3 BH A @ Ak P2 A A A

¥z
ks uia~byco Blatb+c=
[

| ]
o

e T SRR X

(1) 5450000000 = (2 A)
243 .
(2) 300000000 (2#)

2

geihx o B TRd L@ RFI(F A >R 5L

3. K [34-43| — {(12-30) — [ (—1) =2}
% o (4 4)

4, - R+ A-BA gL R G 1628
D ~E~F=Zg# A& BipiEaTL B A
*r %L FDYE~F =z gk i T
RS 52204 4)

(2~)

(2) »g(l1)AE? 7 Blahs HEa~ ]
B d <@l (F 4 > )

[#2]

> BATHHR 2
1 2 3 4 5
10 20 30 40 45
6 7 8 9 10
50 55 60 62 64
11 12 13 14 15
66 68 70 72 74
16 17 18 19 20
76 78 80 82 84

(2~)




